
2
1

3 N2 Ø 12.5C=355

313

2
1

5
1

3 N1 Ø 12.5

C=426

324

5
1

 1 N3 Ø 8C=95

41

13

  1X1 Ø 8

2x3 N5 Ø 8C=324

(costela) 2961

4

1

4

2X3 Ø 8

3 Ø 12.5

3 Ø 12.5

13 Ø 6.3 C/20

(255)N4

14

5
4

 13 N4 Ø 6.3C=150

VT.2 20/60

B.13 VT.3

Corte A-A

3 Ø 12.5

3 Ø 12.5

3x2 Ø 8

A
A

2
1

3 N2 Ø 12.5C=212

170

39

2
1

5
1

3 N1 Ø 12.5

C=298

196

54

5
1

24

2x3 N4 Ø 8C=166

(costela) 1381

4

1

4

2X3 Ø 8

3 Ø 12.5

3 Ø 12.5

5 Ø 6.3 C/20

(90)N3

14

5
4

 5 N3 Ø 6.3C=150

VT.1 20/60

B.7 B.8

Corte A-A

3 Ø 12.5

3 Ø 12.5

3x2 Ø 8

A
A

2
1

3 N2 Ø 12.5C=185

143

2
1

5
1

3 N1 Ø 12.5

C=245

143

5
1

2x3 N4 Ø 8C=172

(costela) 1441

4

1

4

2X3 Ø 8

3 Ø 12.5

3 Ø 12.5

6 Ø 6.3 C/20

(110)N3

14

5
4

 6 N3 Ø 6.3C=150

VT.3 20/60

AP.28 AP.27

Corte A-A

3 Ø 12.5

3 Ø 12.5

3x2 Ø 8

A
A

COMPRIMENTO

TOTALUNIT

POS BIT QUANT

(cm) (cm)

(mm)

AÇO

VT.1

     50A   1    12.5    3    298     894

     50A   2    12.5    3    212     636

     50A   3     6.3    5    150     750

     50A   4     8    6    166     996

VT.2

     50A   1    12.5    3    426    1278

     50A   2    12.5    3    355    1065

     50A   3     8    1     95      95

     50A   4     6.3   13    150    1950

     50A   5     8    6    324    1944

VT.3

     50A   1    12.5    3    245     735

     50A   2    12.5    3    185     555

     50A   3     6.3    6    150     900

     50A   4     8    6    172    1032

COMPR PESO

(mm) (m) (kg)

BIT

RESUMO AÇO CA  50-60

AÇO

      36       9    6.3     50A

      41      16    8     50A

      52      52   12.5     50A

Peso Total        50A =      77 kg
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11 N2 C/12.5

5 N3 Ø 8C=368
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Corte  A - A

19.5

5
5

5

5
N
3

C
/
1
2
.
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Corte  B - B

11 N2 Ø 8C=212
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9

 52

5 N1 Ø 20C=202

 
4
4

 
4
4

 113

R=16

5 N4 Ø 10C=143

 
1
1

 
1
1

 121

COMPRIMENTO

TOTALUNIT

POS BIT QUANT

(cm) (cm)

(mm)

AÇO

B.1 ao B.13

     50A   1    20   65    202   13130

     50A   2     8  143    212   30316

     50A   3     8   65    368   23920

     50A   4    10   65    143    9295

COMPR PESO

(mm) (m) (kg)

BIT

RESUMO AÇO CA  50-60

AÇO

     542     217    8     50A

      93      59   10     50A

     131     328   20     50A

Peso Total        50A =     604 kg

B.1 ao B.13 - 130/60/60 - 13x

BLOCO SOBRE DUAS ESTACAS

MÓDULO DE DEFORMAÇÃO ESTÁTICO

fck de

Consumo

Cimento

Água/Cimento

Relação

A/C

Ecs

30 MPa 400 kg 0,55 26 GPa

CONCRETO: fck=30MPa


